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A system of equoiions is "more thon I equotion". When
grophing o system of lineor equolions, you ore

I grophing 2lines io see if they meet, which is colled lhe
point of intersection. There ore 3 types:

. Consislenl Equotions - if the lines cross once, lhere
will be one solution.

. lnconsistenl Equotions - if the lines ore porollel, there
will be no solutions.

. Dependent Equolions - if ihe lines ore lhe some,
there will be on infinite number of solutions'

*lf the lines ore porollel, then the lines hove the some
slope.

*lf the lines ore perpendiculor, then the lines hove
negotive reciprocol slopes.

Sleps:
1. Rewrite the equotions in slope-intercepl form
then set up tobles for eoch equotion.
2. Use the slope ond y-intercepl to groph the lines or
use the volues from the tobles to groph the lines.

3. Lobelthe lines.
4. Stote lhe point of inlersection.
5. Check wiih the grophing colculolor/desmos.com
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Exomple
Solve lhe following system of equotions grophicolly:

2x+3y=9
Y+5=2x

Work:
2x+3y=9
-2x -2x

9Y= -2x+ 2
333
Y=-2X+3

3

Y+5=2x
-5 -5
Y=2x-5

Poinl of inlersection: {3, I }
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l.) 3y+18=2x
' Y+x=-l
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2.) x+3Y=-3
3y- l5 = 2x
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Point oF intensection' (:-6a!-) --

3.) 3x=Y+6
x-Y=6
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